



ISSN:0976-4933  
Journal of Progressive Science  
Vol. 02, No.02, pp 173-176 (2011)

## Generalized Co – Symplectic manifold of second class

S. N. Pandey

Kohima Science College, Jotsoma Kohima  
Nagaland, India

### Abstract

*The generalized co- symplectic manifold of second class was defined by Mishra, 1991 .In the present paper some theorems related to it has been discussed.The theorems related to its Nijenhuis tensor and the normal are also studied.*

### 1. Introduction

Let there exit an odd-dimensional differentiable manifold  $M_n$ , of differentiability class  $C^\infty$  on which there are defined a tensor field  $F$  of type  $(1,1)$ , a vector field  $U$  and a 1- form  $u$ , satisfying for arbitrary vector fields  $X, Y, Z, \dots$

$$\begin{aligned} \text{a) } \bar{X} + X &= u(X)U, & \text{b) } \bar{X} &= F(X), & \text{c) } \bar{U} &= 0, \\ \text{d) } u(\bar{X}) &= 0 & \text{e) } u(U) &= 1, & \text{f) } n \text{ is odd} &= 2m + 1. \end{aligned} \quad (1.1)$$

Then  $M_n$  is called an almost contact manifold.

An Almost contact manifold  $M_n$ , on which a metric tensor  $g$  satisfying

$$\text{a) } 'F(X, Y) = g(\bar{X} Y) = -g(X, \bar{Y}), \quad \text{b) } g(X, U) = u(X) \quad (1.2)$$

has been introduced is called an almost contact metric manifold

An almost contact metric manifold satisfying

$$(D_X 'F)(Y, Z) = u(Y)(D_X u)(\bar{Z}) - u(Z)(D_X u)(\bar{Y}) \quad (1.3)$$

is called a generalized co – symplectic manifold [1]

An almost contact metric manifold on which  $U$  satisfies

$$\text{a) } (D_X u)(\bar{Y}) = - (D_{\bar{X}} u)(Y) = (D_Y u)(\bar{X}) \Leftrightarrow \quad (1.4)$$

$$\text{b) } (D_X u)(Y) = - (D_{\bar{X}} u)(\bar{Y}) = - (D_Y u)(X), \quad \text{and}$$

$$\text{c) } D_U F = 0$$

is said to be generalized co – symplectic manifold of first class or (nqs) manifold whose equation is

$$(D_X 'F)(Y, Z) = u(Y)(D_Z u)(\bar{X}) + u(Z)(D_X u)(Y). \quad (1.5)$$

If on an almost contact metric manifold  $U$  satisfies

$$\text{a) } (D_X u)(\bar{Y}) = (D_{\bar{X}} u)(Y) = - (D_Y u)(\bar{X}) \Leftrightarrow \quad (1.6)$$

$$\text{b) } (D_X u)(Y) = - (D_{\bar{X}} u)(\bar{Y}) = - (D_Y u)(X), \quad \text{and}$$

$$\text{c) } D_U F = 0$$

Then  $U$  is said to be of second class and the generalized co- symplectic manifold of second class has its equation as [1]

$$(D_x' F)(Y, Z) = u(Y) (D_{\bar{X}} u)(Z) + u(Z) (D_Y u)(\bar{X}). \quad (1.7)$$

In generalized co-symplectic manifold of second class the Nijenhuis tensor is given by

$$a) \quad N(X, Y) = (D_{\bar{X}} F)(Y) - (D_Y F)(\bar{X}) - \overline{(D_X F)}(\bar{Y}) + \overline{(D_Y F)}(\bar{X}) \quad (1.8)$$

$$b) \quad N(X, Y, Z) = (D_{\bar{X}}' F)(Y, Z) - (D_Y' F)(X, Z) \\ + (D_X' F)(Y, \bar{Z}) - (D_X' F)(X, \bar{Z})$$

where,

$$N(X, Y, Z) = g(N(X, Y), Z). \quad (1.9)$$

An almost contact metric manifold is Normal if  $N_0(X, Y) = 0$  [2] where,

$$N_0(X, Y) = (D_{\bar{X}}' F)(Y, Z) - (D_Y' F)(X, Z) + (D_X' F)(Y, \bar{Z}) \\ - (D_X' F)(X, \bar{Z}) + u(Z) \{ (D_X u)(Y) - (D_Y u)(X) \}. \quad (1.10)$$

Using (1.6) b) in this equation we get in generalized co-symplectic manifold of second class

$$N_0(X, Y) = (D_{\bar{X}}' F)(Y, Z) - (D_Y' F)(X, Z) + (D_X' F)(Y, \bar{Z}) \\ - (D_X' F)(X, \bar{Z}) + 2u(Z) (D_X u)(Y). \quad (1.11)$$

## 1. Some Theorems on generalized Co – Symplectic manifold of second class

**Theorem 2.1** - On a generalized co-symplectic manifold of second class F  
Was killing iff

$$u(Y) (D_{\bar{X}} u)(Z) + u(X) (D_Y u)(Z) = 0. \quad (2.1)$$

Proof: - We have from (1.7)

$$(D_X' F)(Y, Z) + (D_Y' F)(X, Z) = u(Y) (D_{\bar{X}} u)(Z) + u(Z) (D_Y u)(\bar{X}) \\ + u(X) (D_Y u)(Z) + u(Z) (D_X u)(\bar{Y}).$$

Using (1.6) a) and (2.1) we get

$$(D_X' F)(Y, Z) + (D_Y' F)(X, Z) = 0$$

which proves the statement. The converse is also true.

**Theorem 2.2** - On a generalized co-symplectic manifold of second class we have

$$'N(X, Y, Z) = d'F(X, Y, \bar{Z}) + 2u(Z) (D_X u)(Y). \quad (2.2)$$

**Proof:** - From (1.8) b) we have

$$'N(X, Y, Z) - d'F(X, Y, \bar{Z}) = (D_{\bar{X}}' F)(Y, Z) - (D_Y' F)(X, Z) - (D_{\bar{Z}}' F)(X, Y).$$

By virtue of (1.7), this equation assumes the form

$$'N(X, Y, Z) - d'F(X, Y, \bar{Z}) = u(Y) (D_{\bar{X}} u)(Z) + u(Z) (D_Y u)(\bar{X}) \\ - u(X) (D_Y u)(Z) - u(Z) (D_X u)(\bar{Y}) \\ - u(X) (D_{\bar{Z}} u)(Y) - u(Y) (D_X u)(\bar{Z}).$$

Using (1.6) b) we get 2.2.

**Theorem 2.3**- Let us put

$$a) \quad 'T(X, Y, Z) = (D_{\bar{X}}' F)(Y, Z) + (D_X' F)(Y, \bar{Z}) - u(Z) (D_X u)(Y) \quad (2.3)$$

$$b) \quad u(X) (D_Z u)(Y) + u(Z) (D_Y u)(X) = 0.$$

Then on generalized co symplectic manifold of second class we have

$$\begin{aligned} \text{a) } 'T(X, Y, Z) - 'T(Y, X, Z) &= 'N(X, Y, Z) + 2u(Z)(D_Y u)(X) \\ \text{b) } 'T(X, Y, Z) + 'T(Z, Y, X) &= 0 \end{aligned} \quad (2.4)$$

**Proof:** - In the consequence of (2.3) a) we have

$$\begin{aligned} 'T(X, Y, Z) - 'T(Y, X, Z) &= (D_{\bar{X}} 'F)(Y, Z) + (D_X 'F)(Y, \bar{Z}) - u(Z)(D_X u)(Y) \\ &\quad - (D_{\bar{Y}} 'F)(X, Z) - (D_Y 'F)(X, \bar{Z}) + u(Z)(D_Y u)(X) \end{aligned}$$

Using (1.8) b) and (1.6) b) we get (2.4) a).

By virtue of (2.3), (1.7) and (1.6) a, b) we have

$$'T(X, Y, Z) = -2u(Y)(D_X u)(Z). \quad (2.5)$$

Then,

$$'T(X, Y, Z) + 'T(Z, Y, X) = -2u(Y)(D_X u)(Z) - 2u(Y)(D_Z u)(X)$$

Using (1.6) b) we find (2.4) b).

**Theorem 2.4** - If we put

$$\begin{aligned} \text{a) } 'N(X, Y, Z) &= 0 \text{ and} \\ \text{b) } u(Y)(D_X u)(Z) + u(Z)(D_Y u)(X) &= 0 \end{aligned} \quad (2.6)$$

Then on a generalized co- symplectic manifold of second class we have

$$(D_Z u)(Y) = 0 \quad (2.7)$$

**Proof:** - In the consequences of (1.6) and (1.7)

'N(X, Y, Z) = 0 is equivalent to

$$\begin{aligned} u(Y)(D_{\bar{X}} u)(Z) + u(Z)(D_Y u)(\bar{X}) &+ u(Z)(D_{\bar{Y}} u)(X) + u(X)(D_Z u)(\bar{Y}) \\ + u(Y)(D_{\bar{X}} u)(\bar{Z}) + u(X)(D_{\bar{Z}} u)(\bar{Y}) &= 0. \end{aligned}$$

Using (1.6) and (2.6)b) in the above equation we get (2.7).

### 3. Normal Property

**Theorem 2.5**- The generalized co – symplectic manifold of second class is normal if

$$u(Y)(D_X u)(Z) + u(Z)(D_Y u)(X) = 0. \quad (2.8)$$

**Proof:** - On generalized co - symplectic manifold of second class we have

$$\begin{aligned} \bigwedge_0(X, Y) &= (D_{\bar{X}} 'F)(Y, Z) - (D_{\bar{Y}} 'F)(X, Z) + (D_X 'F)(Y, \bar{Z}) \\ &\quad + (D_X 'F)(X, \bar{Z}) + 2u(Z)(D_X u)(Y). \\ &= u(Y)(D_{\bar{X}} u)(Z) + u(Z)(D_Y u)(\bar{X}) + u(Z)(D_{\bar{Y}} u)(X) \\ &\quad + u(X)(D_Z u)(\bar{Y}) + u(Y)(D_{\bar{X}} u)(\bar{Z}) + u(X)(D_{\bar{Z}} u)(\bar{Y}) \\ &\quad + 2u(Z)(D_X u)(Y). \end{aligned}$$

Using (1.6) a, b) we get

$$\begin{aligned} \bigwedge_0(X, Y) &= -2u(Y)(D_X u)(Z) - 2u(Z)(D_Y u)(X) \\ &\quad + 2u(X)(D_Y u)(Z) + 2u(Z)(D_X u)(Y). \end{aligned}$$

Using (2.8) in this equation we get  $\bigwedge_0(X, Y) = 0$ , which is the statement.

**Theorem 2.6**- If the generalized co – symplectic manifold of second class is normal and satisfying

$$u(Y)(D_X u)(Z) + u(x)(D_Z u)(Y) = 0 \quad (2.9)$$

then we get

$$(D_X u)(Y) = 0. \quad (2.10)$$

**Proof :-**  $\sum_0 (X, Y) = 0$  is equivalent to

$$(D_{\bar{X}}' F)(Y, Z) - (D_{\bar{Y}}' F)(X, Z) + (D_X' F)(Y, \bar{Z}) \\ - (D_X' F)(X, \bar{Z}) + 2u(Z)(D_X u)(Y) = 0$$

In the consequences of (1.6) and (1.7) this equation assumes the form

$$2u(Y)(D_X u)(Z) + 2u(X)(D_Z u)(Y) + 4u(Z)(D_X u)(Y) = 0$$

Using (2.9) we get (2.10).

## References

1. Mishra, R.S. (1991). Monograph (1), Almost contact metric manifold, *Tensor Society of India*, Lucknow
2. (1984). Structures on a differentiable manifold and their applications, Chndrma Prakashan, Allahabad
3. S.N. Pandey and R.H.Ojha ( ). Semi symmetric connexion on Generalized co – symplectic manifolds, Istanbul univ. *Fen. Fak. Mat. Der.*51 (1992),69-74.

**Received on 12.12.2010 and accepted on 12.06.2011**